Sz HHE] SHEEE
KBEEE RXxBB 48988 58138 68178 78168
x) ' (0 110 181 206 242
- % 0 ({B/mL) o] o o o
PN % e ES e ES
NARIDARUZDOIE W (meg/L| <O0003 <00003 <00003 <00003
KR R U 2 0 it & MW me/L <0.00005
LU YRUZ OIS MmgL| <0001 <0001 <0001 <0001
8 R U 2 o & & ?Wmeg/L <0001
E % R U 2 0Ot & W (meg/LJ| <0001 <0001 <0001 <0001
A i 2 O A {6 & W (meg/L| <0002 <0002 <0002 <0002
W B & ® % (meg/L| <0004 <0004 <0004 <0004
YPIEMA A YRUEILEY P Y (me/L) <0001
HEBERRVEHEHBEBEZ R Mg/ 029 027 026 0.31
2 v 2RV Z oS MM <005 <005 <005 <005
KD RERUZ OIS M me/L <002 <002 <002 <002
2] B 1t by % (meg/L)| <00002 <00002 <00002 <00002
> (mg/L)| <0001 <0001 <0001 <0001
g (mg/L)| <0001 <0001 <0001 <0001
> (mg/L)| <0001 <0001 <0001 <0001
F 352 00IFLULU Y m| <0001 <0001 <0001 <0001
U 2 DOI F U Ymeg/| <0001 <0001 <0001 <0001
I > i > (mg/L)| <0001 <0001 <0001 <0001
& ES B (me/L <005 <005 006 007
Koy =} u] i13 B (mg/L)| <0002 <0002 <0002 <0002
= 2 u} u] A" A (me/L| <0001 <0001 0001 0.001
> o u] u] B B (mg/L| <0002 <0002 <0002 <0002
HY J 0O 2 00X% Y mel 0.001 0001 0002 0002
g = B (me/L) <0001
e U N D0 X 5 Ymel 0.001 0001 0005 0005
B J o O O ® & (mg/U| <0005 <0005 <0005 <0005
J 0O E YL O0OXH Yme| <0001 <0001 0002 0002
87 u] £ K ) A (mg/U| <0001 <0001 <0001 <0001
™ AP L T B R (me/L) <0005
B W R U Z DS W meL <002 <002 <002 <002
PIVEZOLARUZ0IHLEM me/L) <001 <001 <001 <001
% R U 2 O 1t & W me <002 <002 <002 <002
R U 2 0 & W meL <002 <002 <002 <002
FTERUDARUZ OIS W (me/L) 37 42 39 43
NYAYRUZOISE W mg/L| <0001 <0001 <0001 <0001
st m + 7z > (me/L) 34 33 34 32
ALYDL, RTRYDIALAS(BE) (me/L 134 14.9 144 170
& F 3 2 m (meg/L) 51
B« ZF Y R @ B ¥ A me/L <002
I T 7 2 = >V (ue/L) <0001
2=XAFNAYRILRA = (ug/L <0.001
¥ 2 v R BE B MHE A Mme/L <0005
2 T J - ) ## (me/L <0.0005
EHM(EEHKEER (TOO @ 2) (meg/L) <02 <02 02 02
S H & 74 75 75 76
3 (B3 | ®|EEL R®EL BEGEL BEGL
[ ] S (@8 | ®BEEL BREEL  BE8EL BHEEU
=) E B <1 <1 <1 <1
B E (@ <01 <01 <01 <01
PYFEYRUZODIASEW (me/L| <O0005 <00005 <00005 <00005
D5 Y RUZ OIS MW Mmeg/L| <O00001 <00001 <00001 <0.0001
Z Yy T WVRUZOSE M me/L| <0001 <0001 <0001 <0001
X1, 2 =Y 200I%H Y mel| 00002 <00002 <00002 <00002
i ) T > (mg/L)| <0001 <0001 <0001 <0001
w JYIEY (2-TFUAFYIL) (me/L <0005
® @ ] ES & (meg/L) <005
g yooQ07?®kZkUIIL ML <0001
- B X 2 0O 35 = I (meg/L <0.001
B 3 B % (me/L 054 054 061 047
By 5 % B (me/L) o7
B 4. 1-RrUZODISFY meL| <0001 <0001 <0001 <OO0OT
BXxF)L-—t-FFLI—FL meg/L| <0001 <0001 <0001 <0001
Be s ® (T ON) 4
BEME (SYTU7PEH -2.1
3 =} ES =4 8 (18/mL) 4
1, 1 =Y200IFUL Y meL| <0001 <0001 <0001 <0001




